/)q é‘% NAME
e 45 ek
AT— A& C S
@®(x—2)2=25 7.-3 O@x—2)(x—3)=0 - - Ox2—2x=0 0. =
@@(+5)2—4=0 |-3-7 | @(—1)(x+4)=0 /=% | @x2+5x=0 0,“5/
lg¥t) ] r '
@(x+6)2=6 ~42J&5 | @G+2)(x+6)=0 -x.~4 ®12;2;6x=0 e o.—3
2N (A+3) =
L
@(—7)2~18=0 | 72 JF 35 ®(—4)(x+7)=0 4.~7 @§x2—3x=00 , 03
x(3x-1)= | 'S
I ]
®@x—1)2-7=0 /2J7 | ®E+3)(x—5)=0 -3 5 | ®6x2—10x=0 2
' 2x(3%- 5)= 0 Rl A
®(x—5)2—9=0 8. > ® x(x—4)=0 0. 4 ®x2 —4x+3=0 /S
@D(x—1)2—9=0 L= @ x(x+6)=0 0.4 @x2 +2x—8=0 N
®(x+5)2—6=0 -5 2J4 3x(x—9)=0 0,9 ®x2+12x+35=0 ~$.-7
@(x+1)2—28=0 _./2*_1,}7 @ Tx(x+5)=0 0.-5 @x2—8x+16=0 y/g
®(x—2)2=+18 >3/ D) %x(x— 1)}=0 By x2+12x+36=0 -4
@(x—7)2—25=0 S 4| @(2x—1)(2x—3)=0 L3 @25x2 — 10x+1=0 i)
/=2 ) 2 S
/1 -2
@(x+1)2—64=0 7,-9 | ®@(@x+1)(4x-1)=0 -5, 7 @9x2 +12x+4=0 E)
B(x—7)2=10 7i|/;5 @(1—3x)(3+5x)=0 _3{,,_:? ®@x2—-9=0 o
@(x+6)2—-2=0 _52’]3 @ (5x—4) (7x+3)=0 ;.% ,_-g @x2—64=0 ray
®(x—9)2—96=0 | 074J4| @ (8r—6)(9x+6)=0 7.-3 ®9x2 —4=0 73
At /15[ it /15[ Bt /15[




